INTERLOCAL AGREEMENT FOR ELECTION SERVICES BETWEEN

THE CITY OF BRADY, BRADY INDEPENDENT SCHOOL DISTRICT AND BROWN COUNTY

This agreement is made by and between the City of Brady, The Brady Independent School District and Brown County Texas for the provision of election services for the General elections to be held on May 10, 2014.

Whereas, the City and School District are authorized to execute this agreement pursuant to the provisions of the Texas Election Code; and

Whereas, the City and School District have determined that it is in the public interest of the residents of the City and the School District to have a joint election and that the following agreement be made and entered into for the purpose of conducting the elections.

Now therefore, in consideration of the mutual covenants and agreements set forth, the parties agree as follows:

<u>Section 1. Services Provided by City</u>. The City agrees to perform the following duties:

- 1. Appoint persons as presiding election judges and alternate judges, provide training for judges and arrange for the use of polling places.
- 2. Procure and distribute election supplies, and distribution of ballots.
- 3. Procure, prepare, and distribute election equipment, transport equipment to and from the polling places, and issue election supplies to the election judges.
- 4. Supervise the conduct of early voting and supply personnel to serve as deputy early voting clerks.
- 5. Supervise the conduct of voting on Election Day and report results to the School District.
- 6. Other incidental related services as may be necessary to effectuate the election.

Nothing in this agreement is intended to limit the discretion of the City Secretary in the execution of her duties.

<u>Section 2. Duties of the School District.</u> The School agrees to perform the following duties:

- 1. Prepare and adopt all orders and resolutions necessary to conduct the election.
- 2. Prepare and publish all required election notices.

March 10, 2014 (Exhibit #1)

- 3. Provide a list of registered voters to be used in conducting the election, in conformity with the boundaries of the school district and the election precincts established for the election.
- 4. Deliver the names of the candidates that are to be printed on the ballot with the exact form, wording and spelling that are to be used.
- 5. Translate any election documents into Spanish.
- 6. Provide technical assistance as requested by the City Secretary.

Section 3. Administration. The City Secretary will be responsible for administering this agreement and providing supervisory control over all agents, officers, and other personnel performing services pursuant to the agreement. The contact person for the City is the City Secretary Christy Badilla and the contact person for the School District is Teresa Lawrence.

Section 4. Cost of Services. The School District shall reimburse the City of the expenses incurred for programming cost for preparation of the ballot. The School District shall reimburse the City for expenses incurred on behalf of the School District including one-half of all expenses incurred. The City will submit a statement of the costs to be reimbursed to the School District. The School District shall pay the City within 45 days of receipt of the statement.

<u>Section 5. Services provided by Brown County.</u> The lease of voting system equipment from the Brown County Elections Administrations Office under the following terms.

- 1. The accessible voting system equipment and programming will be leased from the county using the attached fee schedule.
- 2. Any damages to the voting system equipment while in the possession of City of Brady shall be reimbursed to Brown County Elections Office by the City.
- 3. A minimum of 2 accessible voting systems will be available for use and a minimum of 3 M100 precinct counters will be available for use in the elections for the City of Brady and Brady Independent School District.
- 4. Brown County will liaison with the vendors on the programming of the equipment, and preparation and printing of the ballots.
- 5. Brown County will provide a minimum of 2 computers and equipment to qualify the voters.

6. All parties may terminate the Lease Agreement for any reason by providing written notice at least thirty (30) days before the effective termination date.

Executed this 10th day of March 2014.

City of Brady: _____

Anthony Groves, Mayor

Attest: _____

Christy Badilla, City Secretary

Brady Independent School District_

Darrell Keese, School Board President

Brown County ERAN Winste

E. Ray West, Brown County Judge

INVOICE

Brown County Elections Administration

CITY OF BRADY

City of Brady, TX

500 E. Adams St. - PO Box 700 Brownwood, TX 76801 (325) 646-4333 Suzy.young@browncountytx.oi

INVOICE NO.	3600
DATE	March 10, 2014
CUSTOMER ID	City of Brady & Brady ISD

то

ATTN: CHRISTY

SALES	SPERSON	JOB	PAYMENT	TERM	IS	DU	E DATE
	Young	5.10.14	Due upon	receip	ot		
QUANTITY		DESCRIPTION			UNIT PRICE	LINE	TOTAL
0.00	ON-Site Support			\$	1,300.00	\$	
1500.00	Ballot printing			Ş	0.34	s	510.0
2.00	Ballot layout and setup (per Pct/Race)			\$	15.00	s	30.0
1.00	AutoMark, English: Audio (base charge)			\$	256.50	s	256.5
2.00	AutoMark, English:	Contest/issues		\$	10.53	ş	21.0
4.00	AutoMark, English: Candidates			\$	7.29	s	29.1
0.00	Props/Amends			\$	15.48		
2.00	AutoMark, English:	Ballot faces		\$	10.53	\$	21.0
1.00	AutoMark, Spanish:	Audio (base charge)		\$	256.50	\$	256.5
2.00	Auto Mark media			\$	10.00	s :	20.0
2.00	Precincts		-	\$	5.31	\$	10.6
2.00	Ballot Type			\$	53.13	\$	106.2
2.00	AutoMark, Spanish:	Contest/issues		\$	10.53	\$	21.0
4.00	AutoMark, Spanish: Candidates		\$	7.29	Ş	29.1	
2.00	AutoMark, Spanish: Ballot faces			\$	10.53	\$	21.0
1.00	M100 Precinct Base charge		\$	371.88	s	371.8	
1.00	ERM Base charge			\$	371.88	\$	371.8
2.00	M100 Precinct media burn			\$	10.00	\$	20.0
2.00	M100 Each Pct.			\$	5.31	s	10.6
2.00	M100 Ballot Face		\$	10.63	\$	21.2	
2.00	M100 Each Contest			\$	12.75	\$	25.5
4.00	W100 Each Candidate			\$	5.31	s	21.2
2.00	AutoMark Equipment: Rental		₹ \$	200.00	\$	400.0	
2.00	M100 Precinct Counter Equipment: Rental			<u>*</u> \$		ŝ	300.0
0.00	reight Charges		· · · · · · ·	\$	42.27		
2.00	M100 Media Burn			\$		s	20.0
-95.00	Aileage	· · ·			\$0.51	s	48.4
1.00 A	dmin Fee is 10% of	contract \$75 is a minimum		\$	289.48	s	289.4

TOTAL \$ 3,184.30